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1 Originally developed within UK Health Forum 
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2 Depending on the circumstances this assumption will be more or less accurate and more or less necessary. In 
general, it is both extremely useful and accurate. For simple surveys the individual Bayesian prior and posterior 
probabilities are Beta distributions – the likelihood being binomial. For reasonably large samples, the 
approximation of the beta distributions by normal distributions is both legitimate and a practical necessity. For 
complex, multi-PSU, stratified surveys, it is again assumed that these base probabilities are approximately 
normally distributed and, again, it is an assumption that makes the analysis tractable. 
 
Depending on the nature of the raw data set it may be possible to use non-parametric statistical methods for 
this analysis. This is possible for the HSE and GHS data sets of this study but when this has been done the authors 
can report no discernible difference in the results.       
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3 This could be made to be time dependent; in the baseline model it is constant. 



7 
 

𝑎 𝜆𝑝𝑏(𝑎)

𝜆(𝑎)𝑝𝑏(𝑎)

( ) ( )( ) ( )
.

.

1
a AgeAtChild hi

newborn f f f b

a AgeAtChild lo

N N p a p a p a
=

=

= −

( ) ( )( )
.

1

' 1
a Age hi

m m m m male newborn

a

N N p a p a p N
=

=

= − +

( ) ( )( )
.

1

' 1
a Age hi

f f f f female newborn

a

N N p a p a p N
=

=

= − +

( ) ( ) ( )( )' 1 1
'

m
m m m

m

N
p a p a p a

N
+ = −

( ) ( ) ( )( )' 1 1
'

m
m m m

m

N
p a p a p a

N
+ = −

( ) ( ) ( )( )' 1 1
'

f

f f f

f

N
p a p a p a

N
+ = −

 
4 The probability of child gender can be made time dependent.  
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5 Relative prevalence by stage would be needed in order to weight these average costs by prevalence 
at each stage. 
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